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1. Vexillary aestivation is characteristic of the

family

A. Fabaceae

B. Asteraceae

C. Solanaceae

D. Brassicaceae

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_y3yYAHzDSaVW
https://dl.doubtnut.com/l/_X3gioqcU6Cgp

2. Gynoecium with united carpels is termed as

A. apocarpous

B. multicarpellary

C. syncarpous

D. none of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_X3gioqcU6Cgp

3. Aggregate fruit develops from

A. multicarpellary, apocarpous ovary

B. multicarpellary, syncarpous ovary

C. multicarpellary ovary

D. whole inflorescence

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_goLCIvQq28jx

4. |n an inflorescence where flowers are borne

laterally in an acropetal succession the

position of the youngest floral bud shall be

A. proximal

B. distal

C. intercalary

D. anywhere

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JpGobM9xzAZ8

5. A true fruit is the one where

A.only ovary of the flower develops into

fruit

B. ovary and calyx of the flower develops

into fruit

C. ovary, calyx and thalamus of the flower

develops into fruit

D. all floral whorls of the flower develops

into fruit


https://dl.doubtnut.com/l/_5FoGT5s1D6cZ

Answer: A

o Watch Video Solution

6. Find out the floral formula for a bisexual
flower with bract, regular, pentamerous,
distinct calyx and corolla, superior ovary

without bracteole.

o Watch Video Solution



https://dl.doubtnut.com/l/_5FoGT5s1D6cZ
https://dl.doubtnut.com/l/_xbZzUczfOOG8

7. Give the technical terms for the following: -
(a) A sterile stamen
(b) Stamens are united in one bunch

(c) Stamens are attached to the petals

° Watch Video Solution

8. Explain the different types of placentation

with example?

o Watch Video Solution



https://dl.doubtnut.com/l/_2x4t3Io26BOL
https://dl.doubtnut.com/l/_TL0idYZRy6kN
https://dl.doubtnut.com/l/_QLWkqn6HS4X8

9. Differentiate between aggregate fruit with

multiple fruit.

o Watch Video Solution

10. Explain the different types of fleshy fruit

with suitable examples

o Watch Video Solution

Additional Questions Solved | Multiple Choice

Questions Choose The Correct Answer



https://dl.doubtnut.com/l/_QLWkqn6HS4X8
https://dl.doubtnut.com/l/_7EGxJe2oKNkI

1. Placentation in tomato and lemon is

A. parietal

B. marginal

C. free-central

D. axile

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PC3GgoSxS6r1

2. The coconut water and the edible part of

coconut are equivalent to.......cu....

A. endosperm

B. endocarp

C. mesocarp

D. embryo

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qZjB0zdYyvfO
https://dl.doubtnut.com/l/_wd9rD0sde9v8

3. Geocarpic fruits are seen in .......

A. carrot

B. groundnut

C.radish

D. turnip

Answer: B

° Watch Video Solution

4. Keel is the characteristic feature of flower of


https://dl.doubtnut.com/l/_wd9rD0sde9v8
https://dl.doubtnut.com/l/_aHAvNUIQjbO4

A. Gulmohar

B. Cassia

C. Calotropis

D. Bean

Answer: D

° Watch Video Solution

5. When the calyx is coloured and showy, it is

called.................


https://dl.doubtnut.com/l/_aHAvNUIQjbO4
https://dl.doubtnut.com/l/_b3J81XmHkpzc

A. petaloid

B. sepaloid

C. bract

D. spathe

Answer: A

o Watch Video Solution

6. Bracts are modified leaves which bear

flowers in their axils. Identify the plant which


https://dl.doubtnut.com/l/_b3J81XmHkpzc
https://dl.doubtnut.com/l/_wSP5soAcOusO

has a large showy brightly coloured bract

A. Jasmine

B. Euphorbia

C. Hibiscus

D. Bougainvillea

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wSP5soAcOusO

7. A flower which can be divided into equal

vertical halves, by more than one plane of

division iS..eenne...

A. zygomorphic

B. cyclic

C. actinomorphic

D. heteromorphic

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_stCWs3oLZ7cY

8. In Theobroma cocoa, the inflorescence arise

A. terminal shoot

B. axillary part

C. trunk of plant

D. leaf node

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hG0fmE9RCIuz
https://dl.doubtnut.com/l/_PpesEPGrDfyL

9. The type of inflorescence seen in Caesalpinia

A. corymb

B. compound corymb

C. capitulum

D. umbel

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PpesEPGrDfyL

10. Head is the characteristic of ................ family.

A. Fabaceae

B. Malvaceae

C. Asteraceae

D. Solanaceae

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KR8U0NftCAlx

11. Thyrsus is a type of ... ....... inflorescence.

A. raceme

B. cyme

C. mixed

D. special

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KpHiIVclttO7

12. Number of whorls in a complete flower is

A.one

B. two

C.three

D. four

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dQH4nsdP1z5V
https://dl.doubtnut.com/l/_kxaHmrYxEp4b

13. Monoclinous flower will have. ............

A. androecium

B. gynoecium

C. both androecium & gynoecium

D. none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kxaHmrYxEp4b

14. If unisexual and bisexual flowers are seen In

same plant then the plant is said to be

A. polyphyllous

B. polygamous

C. hermaphroditic

D. dioecious

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8hn1iWmFG4Th

15, v is a raceme of cymes.

A. Verticil

B. Cyathium

C. Umbel

D. Thyrsus

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wQZuohSpeJCm

16. Unit of perianth is .............

A. petal

B. sepal

C. tepal

D. stamen

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2AYzNZurLG2e

17. Number of floral parts per whorl is called

A. curosity

B. atrocity

C. merosity

D. porosity

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4tri7juXypev
https://dl.doubtnut.com/l/_odbB7abHxyTk

18. What is the green cap-like part of brinjal

fruit?

A. Corolla

B. Perianth

C. Calyx

D. Pistil

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_odbB7abHxyTk

19. Butterfly shaped corolla is seen in

A. rosaceous

B. caryophyllaceous

C. cruciform

D. papilionaceous

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FJZxdxO6Qqev

20. Inflorescence seen in Daucas carota is

A. umble

B. corymb

C. compound umbel

D. compound corymb

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BYj5kkYvpiKt
https://dl.doubtnut.com/l/_L2Uf2S0jrrMB

21. Arrangement of sepals and petals in flower

bud is called .................

A. adhesion

B. aestivation

C. placentation

D. cohesion

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_L2Uf2S0jrrMB

22. Which is not a part of pistil?

A. Style

B. Stigma

C. Connective tissue

D. carpel

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ofMnapCxCKZ8

23.The type of calyx in brinjal is.....co....

A. caducous

B. deciduous

C. persistent

D. fugacious

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hbv31GHUsobE

24. Sterile stamen is called ................

A. pistillode

B. sessile

C.staminode

D. apostamen

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8LoMxkPGeHEz

25. Other name for gynoecium is ....ccouueeee.

A. carpel

B. pistil

C. style

D. ovary

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vRHq1ffS8qff

26. Cavity found inside the ovary is called ..........

A. lobule

B. locule

C.lacuna

D. labium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2H9QcSqE5A9c

27. Which part of saffron flower is used as

flavouring agent?

A. Carpel

B. Anther

C. Style

D. Stigma

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_A0kgGo7jAjx1
https://dl.doubtnut.com/l/_ZM6C8eRpiMDs

28. Flower with inferior ovary is

A. hypogynous

B. epigynous

C. perigynous

D. epihypogynous

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZM6C8eRpiMDs

29. Fabaceae members show ...

placentation.

A. basal

B. parietal

C. superficia

D. marginal

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8M7nQyhkFxar
https://dl.doubtnut.com/l/_Ieq5PM5TQtu2

30. The side of the flower facing mother axis is

called as .... .... Side.

A. anterior

B. posterior

C. lateral

D. dorsi-ventral

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Ieq5PM5TQtu2

31. Which of the following option represents

calyx?

A C

B. Ca

C.K

D. Ka

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VwDoIRcESUOO
https://dl.doubtnut.com/l/_Ck41kOwe68ys

32, s are the products of pollination &

fertilization.

A. Seeds

B. Ovules

C. Fruits

D. Vegetables

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ck41kOwe68ys

33. Study of fruits is called as ..........

A. homology

B. pomology

C. horticulture

D. apology

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_F3KoLyd6zKhx

34. Fruit wall can also be called as .........

A. endocarp

B. epicarp

C. pericarp

D. mericorp

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tz7WRlhbo8Nm

35. Which part of the apple fruit does we eat?

A. Perianth

B. Involucre

C. Thalamus

D. Bracteole

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vj78dx411o0Z

36. The false septum seen in siliqua fruits is

A. frenulum

B. micropyle

C.raphae

D. replum

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tAQkywW4KHqu
https://dl.doubtnut.com/l/_3K9UbO8WRBlB

37. The type of fruit in Ricinus in ...

A. lomentum

B. cremocarp

C.regma

D. nut

Answer: C

° Watch Video Solution

38. Jack fruit is an example for ...


https://dl.doubtnut.com/l/_3K9UbO8WRBlB
https://dl.doubtnut.com/l/_vINg0eRlzffe

A. syconus

B. siliqua

C. sorosis

D. nut

Answer: C

o Watch Video Solution

39. Which of the following is not a schizocarpic

fruit?


https://dl.doubtnut.com/l/_vINg0eRlzffe
https://dl.doubtnut.com/l/_ZObG6j6Qjla5

A. Cremocarp

B. Regma

C. Samara

D. Carcerulus

Answer: C

0 Watch Video Solution

40. After fertilization. ... modifies into

seed.


https://dl.doubtnut.com/l/_ZObG6j6Qjla5
https://dl.doubtnut.com/l/_s1jHOmnd3lQ9

A. ovary

B. ovule

C. carpel

D. stigma

Answer: B

o Watch Video Solution

41. In groundnuts, which part nourishes the

embryo?


https://dl.doubtnut.com/l/_s1jHOmnd3lQ9
https://dl.doubtnut.com/l/_lvg28lVv0udS

A. Endosperm

B. Albumin

C. Cotyledons

D. Carpel

Answer: C

° Watch Video Solution

42. ... are the means for perpetuation of

species.


https://dl.doubtnut.com/l/_lvg28lVv0udS
https://dl.doubtnut.com/l/_FbLBZcPUiL4p

A. Fruits

B. Seeds

C. Corolla

D. Flowers

Answer: B

o Watch Video Solution

43, ... is the second whorl of the flower.

A. Calyx


https://dl.doubtnut.com/l/_FbLBZcPUiL4p
https://dl.doubtnut.com/l/_VPNSEVCTjU8N

B. Corolla

C. Gynoecium

D. Perianth

Answer: B

o Watch Video Solution

44. ... .. is a ripened ovule.

A. Carpel

B. Pistil


https://dl.doubtnut.com/l/_VPNSEVCTjU8N
https://dl.doubtnut.com/l/_UwNOcTJNSJY2

C. Seed

D. Fruit

Answer: C

° Watch Video Solution

45, Imperfect flowers will have ... o

essential whorl(s).

A.only 1

B.2


https://dl.doubtnut.com/l/_UwNOcTJNSJY2
https://dl.doubtnut.com/l/_ZenAdb33eSpk

C.none

D. 4

Answer: A

° Watch Video Solution

li Very Short Answer Type Questions 2 Marks

1. Define inflorescence.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZenAdb33eSpk
https://dl.doubtnut.com/l/_dInoyTnWvPU9

2. Where does the inflorescence axis arise in

cauliflorous type of inflorescence?

o Watch Video Solution

3. Name any two mixed inflorescences.

o Watch Video Solution

4. When a flower is said to be complete?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZleeRErFGXot
https://dl.doubtnut.com/l/_XltuUp3dK3rJ
https://dl.doubtnut.com/l/_53BuTW9ef5EW

5. What is a sessile flower?

o Watch Video Solution

6. Define 'merosity'?

o Watch Video Solution

7. Write the units of (a) Perianth and (b) Calyx.

o Watch Video Solution



https://dl.doubtnut.com/l/_53BuTW9ef5EW
https://dl.doubtnut.com/l/_dhxfD1TZNzJS
https://dl.doubtnut.com/l/_VlhlhYenXPzQ
https://dl.doubtnut.com/l/_2l5DTfLT3Yt9

8. Name the three types of petals

papilionaceous corolla.

o Watch Video Solution

9. What is a staminode? Give example.

o Watch Video Solution

10. What is pollinium?



https://dl.doubtnut.com/l/_2l5DTfLT3Yt9
https://dl.doubtnut.com/l/_SKJq9F2tYkT7
https://dl.doubtnut.com/l/_1SHuuufvN9pr
https://dl.doubtnut.com/l/_VLUh7aSlsCcR

o Watch Video Solution

11. List out the parts of a pistil.

o Watch Video Solution

12. Define aestivation.

o Watch Video Solution

13. What is mother axis?



https://dl.doubtnut.com/l/_VLUh7aSlsCcR
https://dl.doubtnut.com/l/_99RxIz7v1MuE
https://dl.doubtnut.com/l/_v6e8UIOHQGqt
https://dl.doubtnut.com/l/_Yns6Rbx1xh07

o Watch Video Solution

14. What do you understand by the term

"Pomology"?

o Watch Video Solution

15. How the seeds are classified based on

endosperm?

o Watch Video Solution



https://dl.doubtnut.com/l/_Yns6Rbx1xh07
https://dl.doubtnut.com/l/_LsmX9HlZS7HU
https://dl.doubtnut.com/l/_t7kRKveC2OKF
https://dl.doubtnut.com/l/_8e2t4PrujwoB

16. What is spathe?

o Watch Video Solution

17. Distinguish between apocarpous and

syncarpous ovary.

o Watch Video Solution

18. Give examples for following fruit types: (a)

Berry (b) Hesperidium

| & I


https://dl.doubtnut.com/l/_8e2t4PrujwoB
https://dl.doubtnut.com/l/_2T3HfBQpQMvx
https://dl.doubtnut.com/l/_ZCniv5OzZog6

| ¥ Watch Video Solution |

lii Short Answer Type Questions 3 Marks

1. Distinguish between monoecious and

dioecious plants .

o Watch Video Solution

2. Explain Bilateral symmetry.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZCniv5OzZog6
https://dl.doubtnut.com/l/_JZuz21Ib3Byv
https://dl.doubtnut.com/l/_ZRHhkzZIa4SA

3. Differentiate apotepalous flower from

syntepalous flower?

o Watch Video Solution

4. Define Placentation & mention their types.

o Watch Video Solution

5. Write the floral formula for the Hibiscus

rosasinensis.



https://dl.doubtnut.com/l/_1aKpzrqwT3Ab
https://dl.doubtnut.com/l/_SfJ4yPcDFzNL
https://dl.doubtnut.com/l/_jvCI4okwzeEi

o Watch Video Solution

6. What are parthenocarpic fruits?

o Watch Video Solution

7. Aggregate fruit develops from

o Watch Video Solution

8. Classify seeds based on their cotyledons.



https://dl.doubtnut.com/l/_jvCI4okwzeEi
https://dl.doubtnut.com/l/_icNwQ049beSK
https://dl.doubtnut.com/l/_BJKmRoCUC4yk
https://dl.doubtnut.com/l/_TZIIlDKApveN

o Watch Video Solution

9. List out any 3 significances of seed.

o Watch Video Solution

10. What is the importance of inflorescence.

o Watch Video Solution



https://dl.doubtnut.com/l/_TZIIlDKApveN
https://dl.doubtnut.com/l/_ztwZRziD0hmI
https://dl.doubtnut.com/l/_46jsGw4mCw4K

1. Draw the line diagram for the following
inflorescence.

(a) Simple Dichasium (b) Compound Dichasium

o Watch Video Solution

Iv Long Answer Type Questions 5 Marks

1. Explain the various types of Schizocarpic

fruit.

o Watch Video Solution



https://dl.doubtnut.com/l/_shykegdqQLKM
https://dl.doubtnut.com/l/_iBYVMU5pdAw4

2. How are flowers classified based on the

presence or absence of pedicels?

° Watch Video Solution

3. Classify the anthers based on their mode of

attachment.

o Watch Video Solution



https://dl.doubtnut.com/l/_iBYVMU5pdAw4
https://dl.doubtnut.com/l/_9BTok4hd2Pv2
https://dl.doubtnut.com/l/_7DFQAvYxl2jS

4. Define aestivation.

o Watch Video Solution

5. Differentiate between
(a) Racemose and cymose inflorescence
(b) Fibrous roots and adventitious roots

(c) Apocarpous and syncarpous ovary

° Watch Video Solution



https://dl.doubtnut.com/l/_Ilu23UDqDFyW
https://dl.doubtnut.com/l/_O0IJfJwTvP4X

6. Describe head inflorescence

o Watch Video Solution

7. List out the significance of fruits.

o Watch Video Solution

8. Draw a flow chart depicting the classification

of fruits.

o Watch Video Solution



https://dl.doubtnut.com/l/_As6NEtCLuq0F
https://dl.doubtnut.com/l/_3dcl4eQinciE
https://dl.doubtnut.com/l/_xJTZReVuzi4Y

9. Define special inflorescence.

o Watch Video Solution

V Higher Order Thinking Skills Hots

1. Brinjal fruit has persistent calyx. Have you

ever noticed the same in any other fruits?

Name them.

o Watch Video Solution



https://dl.doubtnut.com/l/_xJTZReVuzi4Y
https://dl.doubtnut.com/l/_DRpNqjlW0enU
https://dl.doubtnut.com/l/_x9Da8KYWfxlv

2. What are parthenocarpic fruits?

o Watch Video Solution

3. Ovary develops into fruit after fertilization.
While eating an Apple which part do you eat?

Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_x9Da8KYWfxlv
https://dl.doubtnut.com/l/_5QbeaXxhBtT2
https://dl.doubtnut.com/l/_nK51MS5iHnlF

4. Cremocarp and Carcerulus both are

schizocarpic fruits yet they differ. How?

° Watch Video Solution

5. Mango and coconut are "drupe' type of
fruits. In Mango, the edible part is fleshy
mesocarp. What does the milk of tender

coconut represent?

o Watch Video Solution



https://dl.doubtnut.com/l/_x1HWU3qmNYTN
https://dl.doubtnut.com/l/_pM62xDbADvaW
https://dl.doubtnut.com/l/_9P6Qec9Xe4Q2

6. Pick out correct ratio of the male flower to
female flower in cyathium inflorescence and
explain it? (a) one : one (b) one : many (c)

many: many and (d) many: one.

° Watch Video Solution

7. Pollen differs from pollinium. How?

° Watch Video Solution



https://dl.doubtnut.com/l/_9P6Qec9Xe4Q2
https://dl.doubtnut.com/l/_BjQXFSEKZko5

8. Suflower is not a flower. Justify the

statement.

o Watch Video Solution

9. Flower is a modified condensed

reproductive shoot. Justify.

o Watch Video Solution

10. Is tomato a fruit of vegetable? Explain.



https://dl.doubtnut.com/l/_1tl5gM359emm
https://dl.doubtnut.com/l/_NKdD2lHhhpXw
https://dl.doubtnut.com/l/_7mbjbg20DrfQ

o Watch Video Solution

11. What is caruncle? Where it is seen? How it

helps the plant?

° Watch Video Solution

12. Both the prefixes (Uni-and-Mono-) have the
same meaning i.e, one | n number. Does it
mean that unisexual and monoecious are the

same?

| & I


https://dl.doubtnut.com/l/_7mbjbg20DrfQ
https://dl.doubtnut.com/l/_kEmzbZh7bp8w
https://dl.doubtnut.com/l/_bP0oCAOOBuax

| ¥ Watch Video Solution



https://dl.doubtnut.com/l/_bP0oCAOOBuax

